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(a) `口 uく引 。:

(C)。 ¬ ЧК`lHOI

(a) 14.7 psi 3It{ 520'F
(c) 14.7 psi df{ 60'F

(a)  14 7 psidL 520° F

(c) 14 7 psi&60° F

(a) 劇Hlくく

(C)。
"qo

(a) Parallel

(C) Perpendicular

(り ヽ (コ)爾 赫 πさ

(a) 3f,qAdq(4Psi
(c) ft,w.rq-sqdBa

Natural gas unconventional reservoirs have

(a)high poЮ sity      (b)loW penlneability

mm器 ‰ 爛希品謂 蹄綿ざ面m
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Which of the following are standard pressue & temperature of oil & gas

industry ?

(b) qrcR{q6l
(d) qfiuftare{qH-dr

(b) 14 7 psi Jk 560° R

(d) 27 7 psi〔 kゞ420。R

(b) 14 7 psi&560° R

(d)27 7 psi&420°R

(b)平 F

“

)赫
'さ

薇 ■

0)InClined
(d)None ofthese

(b) !-srrnffsdfgr
Gl) rqfr€qsdB1

(iV) qs 3rcttrs {48? it, erg +l n*t vdtBz ff gt + さ研さ

In a centH釉gal∞mpressor,the now ofairis_to the a対 s ofcomprcssor

(a)  28.96 (b)  12.58    (c)  28.12         (d) 2228
Molecular weight of gas (air) is

(a)  28.96 (b)  12.58    (c)  28.12 (d)  22.28

(、
.i)行日偽R買

'さ '沼

u司派詢司
`‐
ョ甲喩ヨー

inさ ?

Which of the following compressor have high compression ralio ?
(a) Centrifugal compressor O) Reciprocating compressor
(c) Ejector cbmpressor (d) Liquid piston compressor

(vii ) crffus +s HrS m{ 5-6firfr i
(a)1は ヽ    (b)マたヽ  (c)綸■ .即 .

NatШ」gas without H2S iS Cal:ed

(d) +dns

(b) sri-5elrrdcrdrfdfif,
(d) til-Etnfdlrdr{"id

(b) Di-ethylene glycol
(d) Tetraethelyeneglycol

(a) Sour gas (b) Sweet gas (c) CBM (d) Shale gas

(viii) frHRlfud i i +ia vr ara 3r+{ilc-d qrqrd{ ffiffirru :H<riqul { 3T*l t f{ql
qrat z

(a) +nfdc.'drf{fd
(c) ?ri-*n{dcdrf"fd
Which of the following liquid desiccant mostly used in absorption dehydration ?

(a) Ethylene glycol
(c) Triethylene glycol
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(3)

P.T.0.

(a)載哺 .■ .

(c)■0.■ .
Gas hm GGSissenttO

(b) t.a.fr.
(d) m.sq.3ni.{.

for further treatment.

(a) GCP (b) ETP    (C) CTP (d) CWIP

(x)f準倹楡頭1含命 可。円Ч鶯懸戻1"q鳴キ欽 囀 t?   ´

(→  Pu/Pdく 2  0⇒  Pu/Pd>2
(C) Pu/Pd=2   (d) Pd/Pu=2
Whch ofthe folloWing relation is me for critical now?

(a) Pu/Pdく 2   (b) Pu/Pd>2 (c) Pu/Pd=2   (d) Pd/Pu=2 (lX10)

赫 ―■

Section― B

z. vr5lr6+s*3r*T qff-c-dfif{q I

List some uses of natural gas.

3. qEPffi +s*s-rdaurftfrru5'a+lqftt+tfud6Bq t

Define density and specific gravity of natural gas'

5

JtssdBr6Ir5rfr,reti t
What is application of gas compressor ? (3)

((Tt rdE c6aa s-cr6 rulrd aI t t
What is surface flow gathering system ? (3)

ta-s-d-tq frTFr+ * da gq E +1 ol qfi 6frq t

Describe the three major components of oil-water-gas sepafirtor' (l+l+l)

●Ч:留 HmヽЧ引lミ ?゛ЧluH噸 Ⅵヽ希ポ甫諭":gl青
冷民1

Whatis hCat mnsfcr?Explain the mode ofheattransFer

需 蹴 露 潔 71翼 忠 譴棚 驚 rtt■ ilicmd

industrial fuel?

9 申 ｀諭導‖。:論赫 翻訳 l

(3)

(3)

4

6

7
(3)

(3)

Define the viscosity of natural gas'
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A gas well is lroducing a natural
Component Yi

C°
2
005

Cl 090

Cっ 003

C3 002

`Iυ
:● 1● II¶、:(R=甲 銅 ヽ 橋 撃 (R=1073)

(4× 2)

Assuming an ideal gas behaviour, calculate : (R = 10.73)
(i) qlrTrd3Te{6qR

Apparent molecular weight
(ii) frRrEgr-d

Specific gravity
(iiD 2000 psi :nt tso "Fc{is q{a

Gas density at 2000 psi & 150 "F
(iv) 2000 psi slk t 50 'F vr ftRrs 3nffi{

Specific volume at 2000 psi & 150 "F

10申 ｀論漿漱"― ndヽゴ ¬ Ч剛き?中 ヽ諭li―翻 さ?
Why is natural gas termed as "stable" flammable gas ? What are thc composition of
natural gas '? (3+5)

H 哺喩 1■面簡 引1ミ ?… 赫 諭可揃面 論鮒luI`Ч

"劇
遍 希q口
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What is dynalnic compressors?Expldn the wOrking of centHigal compressor with

suitable sketch. (2+6)

12舗t載飾 爺回可 t?れた喩輛 諭舗 ぃ哺 哺鯛1倒 1命腋 |

What is solid bed sweetening proccss ? Explain any one method of solid bed
sweetening                                            (2+6)

l 3. vr5fr6 +q * ffitr"rvPr.fl ur quia ffftq r

Describe the dehydration process of natural gas. (E)

fofr crrqenrq, sqt<R rTErdr{a dcn EIr cr{qfrrfl cund { r{ vsr6 ff qrsr ffftq r

Explain the flow of fluid in series pipeline, parallel pipeline and looped pipeline
system. (E)

c6 rE tul ffifu( iir+<r E 
"* * xrgft-* te ur mr<r u 16r t :

with the following composition :


